
2012	
  Engineering	
  Tripos	
  1A,	
  Paper	
  1,	
  Mechanical	
  Engineering,	
  Numerical	
  answers	
  
	
  
1	
   a)	
  11.8	
  ms−1	
  	
  
	
   b)	
  ±2.5%	
  	
  
	
   c)	
  −	
  
	
  
2	
   2.084	
  m3s−1	
  
	
  
3	
   a)	
  19.81	
  ms−1	
  	
  
	
   b)	
  622	
  kW	
  
	
   c)	
  1.981	
  ms−1	
  ,	
  294000	
  Nm−2	
  ,	
  −5.05,	
  1.00	
  
	
  
4.	
  	
   a)	
  0.25	
  kW	
  ,	
  5	
  	
  
	
   b)	
  0.8333	
  WK−1	
  	
  
	
  
5.	
  	
   a)	
  521.3	
  K	
  	
  
	
   b)	
  180.3	
  kJ	
  kg−1	
  	
  
	
   c)	
  −	
  	
  
	
   d)	
  −	
  	
  
	
  
6.	
  	
   a)	
  −	
  
	
   b)	
  4γ/5	
  	
  
	
   c)	
  5γ/6	
  ,	
  6/5	
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